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ﬁg TREOBBOSILEHOKRES TREDHBEEILHOKRES TEFEOBEBOEILHOKRES TREOHBESLADKRES
9 100kN/mM%8Z 5 - = = = -|3mZEBZD = = - - -| 100kN/mM#%#8% % - = = -|3mZE#BZ B ~ -
Th st 1.00] 0.00 ~ 4.63 57.67| ThS | 0.00 ~ 4.63| 1.90 10.16 Th Lt 1.00| 6.00 ~ b5.10 57.67| TS | 6,00 ~ 6.10| 1.90 10.16
10 100kN/m##82% | 1.00] 0.00 ~ 1.24 118 81 |3m%E#BZ5 = = - - -] 100kN/ %825 | 1.00| 10.67 ~ 14.53 118.81|3m%EitBZ 5 ~
Tt 1.00| 1.24 ~ 9.03 100.001 =hist | 0.00 ~ 9.03| 2.27 12.16 Th Lt 1.00| 6.00 ~ 10.67 100.00| =nbl5 | 500 ~ 14.53| 2.27 12.16
11 100kN/m##8x5 | 1.00| 0.00 ~ 0.30 104.48|3m%E{BZ % = = - - -] 100kN/m%Zi#8zx5 | 1.00| 11.43 ~ 1230 104.48|3m%Ei#BZ 5 ~
Th st 1.00| 0.530 ~ 8.09 100.00| =hist | 0.00 ~ 8.09| 2.41 12.91 Th Lt 1.00| 6.00 ~ 11.43 100.00| =nl4t | 500 ~ 1230| 2.41 12.91
12 100kN/mM#BZ 5 - = = = -|3mZEBZD = = - - -| 100kN/m#%#8% % = = -|3mZE#BZ B ~
Th st 1.00]1 0.00 ~ 7.76 99.68| Thst | 0.00 ~ 7.76| 2.60 13.89 Th Lt 1.00| 6.00 ~ 1340 99.68| NS | 6,00 ~ 1340\ 2.60 13.89
13 100kN/m##82% | 1.00| 0.00 ~ 0.40 105.85|3m%E#BZ 5 = = - - -] 100kN/m%Zi#8z5 | 1.00| 10.63 ~ 11.70 105.85 | 3m%EitBZ 5 ~
Th st 1.00| 040 ~ 8.18 100.00| =hst | 0.00 ~ 818| 2.26 12.09 Th Lt 1.00| 6.00 ~ 10.63 100.001 =nl5t | 600 ~ 11.70| 2.26 12.09
14 100kN/mM%EBZ 5 - -~ - -|3mZEBZD -~ - - -| 100kN/m%#8% % -~ -|3mE#BZ B ~
s 1.00| 0.00 ~ 7.29 92.80| #=ns | 0.00 ~ 7.29| 2.02 10.81 ThList 1.00| 6.00 ~ 10.80 92.80| =nst | 6,00 ~ 1080\ 2.02 10.81
15 100kN/mM%E{BZ 5 - -~ - -|3mZEBZD -~ - - -| 100kN/m%#8% % ~ -|3m%E#BZ % ~
ZhLst 1.00| 0.00 ~ 6.569 8311 #hdst | 0.00 ~ 6.59| 2.00 10.72 ZhLst 1.00| 6.00 ~ 9.00 8311 #hst | 6,00 ~ 9.00| 2.00 10.72
16 100kN/mM%EBZ 5 ~ -|3mZEEBAD ~ -| 100kN/M#%#EZ % ~ -|3mE#BZ S ~
ZhnLst 1.00| 0.00 ~ 6.72 84.85| #ns | 0.00 ~ 6.72| 1.94 10.40 ZhLst 1.00| 6.00 ~ 8.850 84.85| #=ns | 5,00 ~ 880| 1.94 10.40
17 100kN/mM%EBZ 5 ~ -|3mZEEBRD ~ -| 100kN/M%#EZ % ~ -|3mE#BZ S ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
18 100kN/m%#825% | 1.00| 0.00 ~ 0.40 105.85|3m%E#BZ 5 = = - = -] 100kN/m%i#8=z% | 1.00| 10.63 ~ 11.70 105.85 | 3m%Ei#BZ 5 =
ZhLst 1.00| 040 ~ 818 100.00| =nLst | 0.00 ~ 818 2.26 12.09 st 1.00| 6.00 ~ 10.63 100.001 =nst | 5.00 ~ 11.70| 2.26 12.09
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
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ﬁg TREOBEBOSILEHOKRES TREDHBEEILEHOKRES TEFEOBRBOEILHDOKRES TREOHBESLADKRES
7 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
zhst — -~ = —| Zhst -~ = — — zhst — - ~ — —| #hst - ~ — — —
2 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 638 80.32 | #nLS | 000 ~ 638 1.756 9.37 ThList 1.00 | 6.00 ~ 7.50 80.32 | =nhLs | .00 ~ 750\ 1.756 9.37
3 100kN/m%x#8z5 | 1.00 | 000 ~ 1.02| 11536 |3mEBz5| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1058 ~ 1380 115.36 |3mE#BZ% - ~ — — —
s 1.00 | 1.02 ~ 881 100.00 | =nst | 000 ~ 881|214 11.45 s 1.00 | 6.00 ~ 1058 100.00 | =nlSt | .00 ~ 1380 2.14 11.45
4 100kN/m%E#8z5 | 1.00 | 000 ~ 062 109.17 |3mEBz2B| — ~ — — — | 100kN/ %825 | 1.00 | 1053 ~ 1230| 109.17 |3mE#Z5 - ~ — — —
s 1.00 | 062 ~ 840 100.00 | =nst | 0.00 ~ 840\ 1.76 9.41 s 1.00 | 6.00 ~ 1053 100.00 | =nst | 6,00 ~ 1230 1.76 9.41
5 100kN/m%E#8z5 | 1.00 | 000 ~ 042 106.18 |3mE#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 10564 ~ 11.70| 106.18 |3mE#Z5 - ~ — — —
s 1.00 | 042 ~ 820 100.00 | =nstr | 000 ~ 820\ 1.76 9.39 ThList 1.00 | 6.00 ~ 1054 100.00 | =nSt | .00 ~ 1170 1.756 9.39
P 100kN/m#E#Z5| 100|000 ~ 047 107.03 |3m&E#BZB| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1060 ~ 1190 107.03 |3mE#BZ% - ~ — — —
s 1.00 | 047 ~ 826 100.00 | =nhst | 0.00 ~ 826\ 1.82 9.76 ThList 1.00 | 6.00 ~ 10.60 100.00 | =nlst | .00 ~ 1190 1.82 9.76
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/mM%#B% % ~ IMEBZD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhnLst ~ ZhnLst ~ ZhLst ~ zhnLst ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
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